NSTE

quenched and ground

incl. screw
DIN 912 - 12.9

Type [ld.-No.[ vers. [N|H|h|b| G screw torque SMW-AUTOBLOK

DIN 912 Md max. (Nm)
NSTEO8 038265 2 8 135 5 12 M6 M6 x 20 16

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 12 12061300, 2 12 15 6,5 16 M8 M8 x 20 30

©0000000000000000000000000000000000 0

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 12-1 12061200 1 12 15 65 16 M8 M8 x 20 30

©0000000000000000000000000000000000 0

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 14 73061650 1 14 18,5 6,5 16,5 M10 M10 x 20 50

©0000000000000000000000000000000000 0

'AL/BH/BH-D 165

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 17 081813 2 17 23 9 22 M12 M12 x 30 70

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 17-1 081814 2 17215 9 19 M12 M12 x 30

©0000000000000000000000000000000000 0

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 17-2 73062150 1 17 20,5 7,5 23 M12 M12 x 25 70

©0000000000000000000000000000000000 0

-D 210  AL-D 210

C 210 * RC-D 210

210 ¢ PBI-D 210 ® HB-D 210
AP-D 215 o NT-D 215

©00000000000000000000000000000000000000000000000000000000000000000000000000 ©0000000000000000000000000000000000 0

NSTE 17-3 18062632 1 17 20,5 7,5 30 M12 M12 x 25 70

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 21 081815 2 21 27 11 28 M16 M16 x 35 150

©0000000000000000000000000000000000 0

.l:lg'I.'E..ZTI:ZH.7.3;0.6.3.0.5.0....1"".2;.2(;,.5"16"3.0.}\./{125.""l\;ﬁ(.ig(g(;""."“"1.5.0”.”“

©00000000000000000000000000000000000000000000000000000000000000000000000000

NSTE 21-3 034148 1 21 26,5 10 28 M16 M16 x 30 150

©0000000000000000000000000000000000 0

HFKN-M 315

AP/APLUNT-M 315
RC-D 250/305
C 250/315 ® BHM-FC 315

©00000000000000000000000000000000000000000000000000000000000000000000000000 0000000000000 000000000000000000000 0

NSTE 25,5 081817 2 25529 11 35 M20 M20 x 40 300

000 000000000000000000000000000000000000000000000000000000000000000000000000 ©0000000000000000000000000000000000 0

NSTE 25,5-1 73065030 1 255 33 14,5 38 M20 M20 x 40 300
400

60 SMW-AUTOBLOK smwautoblok@smwautoblok.ru

www.smwautoblok.ru



